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The language of.graphs i
@ MMatch the names with the d'iag:ams.‘ '

a bar chart ___ atable __ aplechart - __ 4 graph
Word frade Word produdson_. '
[ 2000 T 12.3% . 40%
’ 2001 ~0.9% 13%
2002 2.25% 1.75%
579 " 2_093 : . &0% - - - 3.25%
21% b '
% &0

S AN

0 - e
- e
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1996 1997 1998 1999

@ Reéad the four extracts about world trzde Match the extracts with the diagrams in €3. Write the
letter in the space belcmrthe extract.

Prices have gone up and down dramatically  {i | 7 Afew large corporations dominate some
and coffee is a good example. [fs price . ! | markets. For example, the coffee market in :
regched a f?eak of ové.r 550 m 1997 bat . l Greai Britainis dominate dbyNestIe, which . i
fell sharply in 1998, with an improvement § | accounts for 7% ofall sales, and Kraft %f
- In 1999. The price of cocon, ofi the other . £ . ‘
hand, has decreased steadily since 1997, [ -Foodshas a share of 21%. Smaller; local
s A-...-,..,n-..‘_w.m.&;.a...-N-.—r.mx.wfl.f compames represent only 7% of the markef.’ :
. : =y ]
The final price of 2 product depends on ; 4 ’ 3
the production and Jabour costsand the [ |  Dusing the 1990s, world trade grew faster
manufacturer’s profit, plus the margin : | than world production and was an 5
added by the retafler or company that } important factor supporting economic “
sells the preduct. In clothes, for £ | growth. In 2001, this motivation was lost i
example, this retafler margin often { as world txade decreased, After growth of =;
. accounts for over 50% of the final price, over 12% in ZQDU, this levelled off at f
with labotr only representing Jus‘c over nearly -1% in 2001 - the first fall in ‘
10% of the finzl prlce - i1 almost two decades.




Paragraphs to Describe Graphs and Charts

Jane's LINC Class: Average Daily Attendance, by Month

BEA=ITES e oy T

Months

Wiite a paragraph to describe the bar graph above. Write three details to support the topic sentence.

Topic sentence: Average attendance in Jane’s LINC class followed a distinct pattern over time.

Chapter 1~ Academic Skills | Writing Paragraphs and Essays o




. Describing Trends
. 1) . Rises and falls :
: {
.increase . decrease ! ;
e £l | to remain stable
go up go down i .
. b~—"to improve
o i ;
- = . ; /\ toreach a peak
A Our market share fell by 1% last year, :
. B "Yes, bit on the other band our turnover increased by 8%.
Q) Pescribing changes . - - ' . 7 ' . - - | 7 7 o
Complete these tables. Now complete this table.
il NOON - | [ ippemve AT Which adjeive desce ?
; . b ; - jective describes:
(action) | fth.lﬂg) (describes a noun) | (describes a verb) 1 astds, vy livee chasged |
10 dse a rise olight slightly ’ 2 .a sudden, large change? 3
to fall : sharp . 3..a very small change? 1
to increase denmatic 4 a regular change (not sudden)?)
to decréase S steady TS .
to improve SRS A 3
to recover R —
i '_x
3) Complete these graphs, -
L g I
PN : 1
= S X - B i
T TJwe duly  Aug. Sept e Feb _March Apdl  May Ye Ot ‘Hoy,  Rec . Ja“ i X
3 Inflation went dovea from 5.5% in

| The rate of unemployment increased 2 Inmterest rates decreased by 2% in May.

to 11% In Sepramber. December to 5% in January.
BILLON 100=85 . TUNNES
s .
E = — T
: = |7 1’-. ,a"*
“hug  Sept  Oat Fov 29 80 81 = e 34°35 36, . JTFMAMJJASOND
S The ramil prics index went up slightly & Producdon fell sceadily in the lest

4 Consumer spanding rose sharply in .
Movember, =

in week 36. guzrtar of the yzarn
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GRAMMAR FILE

Deseribing trends

Look at the graph and read the two descriptions. Label the two lines they refer to.
' Annual use of the media per person (in hours)

| .
— O e
e e N Rl
i -’<\»~ -
— T — |
______ et ]
i 3
i
1998 . 1999 - 2000 ) 2001 _ _ _200_2 z0083 2004
g ™y o - - :
Broadcast TV Cable and satellite TV

During the last seven years, there has beenan -
overall increase in the use of cable and
satellite TV in line with the gradual growth in
industry. The number of hours spent
watching cable or satellite TV grew
dramatically from 1998 to 2002 and reached
a peak of 950 hours at the beginning 0f 2002,
dropping slightly the rest of the yeat by 50
hours. However, this figure is now going up
again, with a strong rise in 2004, and it is
clear that the use of cable and satellite TV is
booming.

—_— N i

Since 1998, the use of broadcast TV has fallerr
sharply, going down from 950 to under 600
hours in just seven years, This figure levelled i
oft slightly in 2002 with 2 decline of just 30
hours compared to a sharp fall of 70 hours
the following year and reaching an all-time
low of under 600 hours per year by 2004. This
shows that use of traditional TV is declining
rapidiy and steadily, probably due to the fact
that more people than ever before are now
watching cable and sateltite TV services.

\-

Complete the description of the third line, as in the examples. Often more than one answer is

possible.

—
Radio

there has been an overall increasein the use of radio, going
2 pearly 1,000 hours in 2004. Interest in radio
fAuctuated, however, and its use fell 3 50 hours from 1998 to 1999, In spite of this,
during the following three years it picked up, reaching a peakin 2002 ._#1,000 hours per
person.The following year it " Shutin 2004 it '

8, in line with the 7
in the use of cable and satellite TV, From this graph, itis clear that use of radio js relatively

8

During the last seven years,
1900 hours per person in 1998

© Oxdord University Press
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#8 Vocabulary

LANGUAGE NOTE

New developments

50—
40 § 2002
a 2003
30—
20—~ Europe  China Asia latin Jepan  Others
. R " Pacific America
10 s s

Look at the information about the Amnerican company Motarola_ Are these
sentences true {T) orfalse (F)? If they are false, cotrect therm, Use the Language

Note below to belp you.

"1 Between 2002 and 2003, the percentage of sales went down in three sales

regions (not induding “Others™}s v
Sales rose in two IEEIONS. see
In three regions, sales remained stable. i,
Sales in other regions fell by 1%. .......
Sales to Asia Pacific went up by 196, coui.
Total sales outside the U.S. decreased by 4%. e

Now look again at the Motorola figures and cornplete these sentences with an
appropriate verb.

UL B W b

1 Sales in the TLS. cumcianianns by 5%, and they c..meee by 1% in Latin America.

2 Sales i EOTOPE cemicssinn sersosseasmeens 2t 14%.

3 The percentage of sales to most Asizn COUNLEIES wererernon JUR— amvarnee
especially in China, where sales wcrncre. . by 4%. :

4 Sales to other cOUmtTIes wu ... fom 6% to 5%.

Pescribing trends

Itonse/tagaup/tamaease Lol T e LT
- Salss rose/ weitt up/. increased ﬁ'am "March to September Iast yaar T
" Prices are rising / gamg up Va: mcreasmg thfs' year ’ R Lo

2 To fall / to go, down’ /0 decrease - : ’
Sales foll / went down / decréased Betweeu 2004 and 2006 R
. Exports are falling / gomg dowrt / dea'easmg af the moment

3anemam5tab[e . ST -
Sa!esremamedsf:abie lastmanﬂr '; '. R s

4By,from and to - T T
Our market share fose by 2%, from 7% o 9%

SCATE W e fusinme sg Besics
cuwd 2oob
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Movement (Verbs); UP
= Rose

* Wentup

r  Increased

v Graw

»  Shotup

*  Suged

»  Rocketed

Movement (Verbs): Down
= Fel

s Declined

*  Dropped

¢ . Decreased

= Sank h
*  Went down

v Plunged

«  Plummeted

Prepositions

= Between 1995 ind 2000

*  From 1995 to 2000

*  Sales rose from 200 to 250
= Sales fell to 150 in March

v Salesfell by 50%

Adverbs aud intensifiers
«  glightly

+  alittle

» alot

»  sharply

v suddenly

= steeply

= gradualy

» gently

= steadily

No Movement: (Verbs with Adjectives, Verbs)
*  remained steady

» swere unchanged

1 did mot change

»  remained constant

= remained stable

= stabilized

Tops and Bottoms

v reached apeak

s pealed

= reached their highest level
= felltoalow

» sanktoatrough

«  reached a botiom

i omiatiis st st T




l Vocabulary I.-* Complete this extract from a company repon using the
prepositions in the box .

rby on ﬁom’ of up a in in 0 toJ

The price of our shares hos increcsed I___frem €12 in February
2 the present price of €16. The price remained sfeady
3 March and Aprif ¢ £15. There was a fall
s______ €2 pershare in June. However, this year we have spent
a considerable amount 6 new equipment and, as a result,
productivity increased 7. 5% in September. So, the share
price rose 8 £14 ot the end of Oclober. We have
recent]y put ? our prices, and this may lead to a slight
drop the share price, but we expect fo make a full
recovery by the end of the next quarter

2. Compilete the table.

X
IR
L
1
i
1
-1
aL
. 1
" . . "t adecrease .
L toréduce” . ! -
; .
_pet 1 T S
i, v d recovery -
r
3.  Complete the sentences with the past simple or present perfect

form of the verb in brackets.

1 Yesterday, the exchange rate was £450. Today it is €430.
It _hasaone down (g0 down) by 20 cents.

2. In 1998 the price per litre was $250, [n 1999 it was 33.50.

It {increase) by $1.00.
3 Last year it cost HKD $400 and this year it still costs HKD $400.
The price {not change).

4 At the start of the week, share prices in Tokyo rose by 3.5%.
They are not rising now. They {remain) steady.

5 Prices started to fall last year. This year they are still falling very quickly.
They (drop) to the lowest point in 10 years.
The price was the same in January 2005 as it was in December 2005,
prices o (not rise) in 2005.

o

Soune - ‘
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LOOK AT THIS GRAPH - WHAT DOES IT REPRESENT?

The graph shows US sports players’ salaries in dollars.

In 1970, baseballers earned $125,000 a vear, footballers’ salaries averaged $99,000 a year, and
basketball players earned about $43,000 annually.

Main ideas

All salaries increased

Big differences between 1970 and zooo for all sports

Basketball was biggest in 2000, followed by baseball

In 1970, basketball was the Iowest, baseball was the highest

There was a sudden rise beginning in 1080

There was another sharp rise for all sports in 1990

Salaries in football began to level off or even fall from 1905 onward

B A M B g @
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. 10. The cost-ofdiving geav e, for Madrid is 100,

-

Guzrda #-grafico, |
sull’apposita Hoea,

. Cnst-of-living index

Tokyo ar_ld Osaka are the world's mastexpensive cities, arcording ko asurvey by the

--Emnonust‘[nteﬂ{gepce'-ﬂnft, a:istermmganyafﬂa;Emnam‘st. The ostof living in’tﬁé -

pensive cityinthe European Union; Paris je the priciestwithinthe evrm atea, Thaea

looking fora relatively chezp cityshould head for Adckland in New Zealand,

M Yorka 00, Decermber 2002

géﬁil 1] l!"

£ % & o 8 ."r- T REE R
el iult, PG e il

Soutca= Excmomist IntelBigencz Unlt

1. This rescarch pd graph was completed by the Econontist Tntelligence Unit
2, The most expensive city in thewoild is Tokyo.

3. The cost-ofliving in Paris is higher tha3i Léfs Angeles,

4. Oslo Isas expensive 1o Tive in as Hong Kong, .

5, This is &ui exairple’of a lino graph.

6. 1t is cheaper fo live in London thaa in New York,

7. The least expensive city in this graph s Monfreal.

8. It costs less fo Jive in Vieana than in Zixich,

8. Anclland is an econontical city in New Zealand,

L3

Urdergtanding a praph . ) ) T
eggi 3l testo e decidi e Je-frast che seguono sono vere o filse. Trsarisch T (truef o'F ghatee)
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( Vocabulary 2 j

1

Wordist on page 211 of the coursebook,

Verbs of movement

Copy the verb forms in the box below inio the correct column in the table according to

their meaning,
hitalow fall level off remain flat plummet rise soar
dip fluctuate hit a peak reach a peak drop reach a high
phinge stahilize be erratic reach the lowest point rocket
grow increase decrease -
T NV AR
Fise

L

Underline all the verbs that describe an extreme. These cannot be combined with
adverbs.

Copy the adverbs in the box below into one of the two columns in the table classifying

the speed of change.

gradually quickly slightty swiftly slowly but surely
steadily drastically slowly rapidly radically

A small change over a longer period A fast change over a shorter period

gmdam[lg

Maich the adverbs in exercise 3 to the relevant column in-exercise 1.

Rewrite these sentences containing noun phrases so that they contain verb + adverb
combinations,

‘Example:

There was a significant rise in the use of social‘nenyd{i{ing?fs}'iés in 2005,
Lsage of soclal networizing sites rse significantlypin 2005

1 The data reveals that the 90s saw a dramatic increase in the number of people using
the Internet. :

2 There is a steady growth in the popuiarity of reaciing f;ews;aapers online each year.

3 We are witnessing a gradual decline in the amount of fme spent sesing friends
iace-io-face.

n
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We are all friends now

. Yocabulary 2: Verbs of movement

1 Work in pairs. Match the parts of the graph 1-10 with the verbs a-j.

A-B, a hita low

BGC

B-D ¢ remained flat/stable

D-F

d plummeted

\
\\
T |

‘\/\ F . € tose gracdually
\ F-H  \-f fell gradually
G ¢ soared
C D \/G - h dipped
J-K - i flucluated

j
i
=

j hitapeak

2 For sentences 1-10 below, use the verbs in exercise 1 to replace the underlined text.

[+

1 The price of laptops dropped followed by a period of stability.
2 Numbers reached a high'in the year 2009.
3 The amount of money spent fell stightly and then quickly recovered.

4 Visltor numbers to the website plunged in the first quarter of the year.

5 Book purchases increased slowly but surely over the year.
6 The number of siudents applying fo the university stabilized over the decade.

7 Attendance at the conference decreased steadily last ysar.
8 The growth rate was erratic during the previous year.
9 Member numbers reached their lowest point in March.

10 Car sales rocketed over the period.

To add variety to your writing you can use nouns instead of verbs to describe

movement. Look at the nouns in the box below and decide which ones are not correct.

adrop aplunge abottomout anincrease stabilization
fluctuations adecline arocket asoar aplummer arise
adip afall aleveloff aclimb apeak asuree

Rewrite the sentences from exercise 2 using nouns instead of verbs. Use the following
structure: There was a {+ adjective) + noun + in ... . For two of the sentences this is not

possible. Make any other necessary changes.

Example:
There was a drop in the price of laptops followed by a period of stability.

b fell and then levelled off

YR T e S




Understanding o graph.

Guarda il grafico, leggi il testo e decidi se le frasi che segiono sono vere ¢ false. Inserisci T (trug) o ¥

sull’apposita linga.

-

H immigration

In 2005 Ametica took in' more thas one mitlion permar.entlmmgranls which is equiv-

alent to around 0.4% ofits total population. Measuredrelative to population, howaver,
immigsation is even more significantin oth&rmuntnes.acmrdmg tothe peco. New
Zealand, forexample, received just over 62,000 immigrantsin 200, but this was
equivalent to avpund 1.5% oFits pnpulahon Df{\m.

Inflows of foseign pnpulzbm felip Ml rc'e)

' q0q
660

400

% "% L *”*@%*‘% e o Sy "’»,f
'

Sourre; 89D

L Belgmm reccwed a preater number of immigrants than Gexmany L _
2. 'Ihxsman@cmnpleofabm'graph_ . 2. -
3. This graph was researched by OECD. ) . 3.
4. Canada took in more than 200,000 foreipners, t . 4.
5. This graph refers to the year 2002. 5
6. Alower number of immigrants arrived in Switzerland tha.u the US 6 _
7. Approximately 200 immigrauts armived in France: 7.

8. Japan received less than 400,000 forcigners. . 8.~
2. Australia took in the same pumber of immigrants as Dcnmark‘. . oS
10. mmigration is aIso measured as a percentage of a country’s popnlation 10.

-LO0G
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'Cognome Nome Matz, Corso di laurea

GRAPH: Guarda il grafico e decidi se le frasi che seguono sono vere o false. In,_sérisci T(me)oF
(false) sull’apposita linea,

According to the 2006 United Nations Henan Development Report, immigrants make up 13.0% of the total
population of the United States, which make the United States rank thirty-eighth of the 60 coumtries
surveyed, Qatar ranks first, with immigrants comprising 80.5% of the ioial population.

Top Ten Countries by Immigrants

Hemg Kong

Yernel

Palstine

Nauro

Andesta

frramdgrants a2 percent af tota] popuiation, 2005

Source: United Nations

1. Monaco has a higher percentage of immigrants than Palestine.

2. This graph refers to the year 2004.

3, Qatar has the highest percentage of immigrants,

4. Jordan and Nauru have the same percentage of immigrants.

5. This 1ype of graph is called a bar graph

6. The United Arab Emirates ranks second in the top ten countries by Immigrants.
7. In 2005 more than half of the population in Kuwait were imrmigrants,

8. This graph was compiled by the United Nations.

9. The couniry with the lowest percentage of immigrants is the USA.

10, Immigrants make up 39.5% of Hong Kong’s population.

KT

&

B L E T MOIRE RV, R

e

o

y
{

b

A O R B R R




-

Yoeabulary in use Choose the correct word from the box below. There are 5 words you dont nesd,

L. Alacge firm which ewns subsidiaries is called 2 i
2. The peaple who work for 2 company are its Z
; . 3. Many smell shops are closing becsuse of from supermarkets. 3
4. The money that an employee earas for his work is 2 4
i 5. Michelin isa famous company swhich _ fires, , , 5 :
5 & Qur company’s market i5 6% at the moment, &
_ 7. The company about 10,000 people. : 7
8. The head ofiics of the company is in Chicago. 8
9. The Personnel Department offers specialized programs
for new employees, g B
10. The shop gets its products from Jocal 19
\
BORROWED EMPLOYEES | LOCATED PROPIT SPEND
AN
COMPETITIGN | EMPLOYS MANUFACTURES SALARY SUPPLIERS
; EARMS LEND PARENT COMPANY | SHARE TEAINING
<t
G
|
i
i
E
B
i
1l
L

TR

R




Yocabalary in nse Choose the correct word fiom the box below. There are 5 words you don’t need, -

1. Suppliersusually _ their goods wholesale 1o pther companies, 1
2..An_____ isapersonwho studies or has special knowledge of economics. 2
3. The moltinational’s markef share . fom%%to 7% L";si yedr. 3
4. The group of people who work for an craanization are called — 4 5
s, The __ ofthe Fiat company is Situated i Turin, . 5 h '
6 Wehave 51% of the .s'o we confrol the cémpaﬁy. - 6
7. A______isapersbn who chooses and buys goods for a COmpany,_ 7
j 8. A__ zs & temporary partnership between 1wo or mors cémpanies. 8 “
'1 9. Jackieisin_____ of quality control of produsts, o 2
10 and demand describe market relations between prospective seliers '
and buy;rs of'm g’ood_ ) 10
ADVERTISEMENTS | COMPETITORS HEAD OFFICE SELL . SUBPLY .
BUYER DECREASED | INTEREST SFARES T TRANING o
CHARGE ECONOMIST JOINT \'ENTURE ‘ STAFF WAGES :
L ‘ .

e T —




] 16 Quality
ng

Defining quality

) @ Read the first paragraph of the article, Then complete the sentence below,

In the past, quality meant ., s nowadays, business people
believe that quality means ., .. ... .. .

; Read the article. Then correct the five factual mistakes in the summary at the
top of the opposite page.

L ———— L

the most misused in the busi- 30 finest in the world. Why all  aproduct must be of certain
ness world. What exactly these detailed guestions standard; and it should con-
does it mean? Gur grandpar- about numbers? 85 vey a sense, not of outright
5ents would have been in no Rolls Royce, the company  cheapness, but of being sold £
: doubt. Quality meant excel- in question, duly went bust ata fair price. -
N lence: a thing was the best of 85 in 1573, The trouble with old- The US fast foods group
: i its kind, and that was that. A style quality, it seemed, was McDonald’s, for instance, %
, Stradivarius violin had quai-  that it encouraged supply- so tatks of fts ‘high quality §
Wity, a tinker’s fiddle did not,  driven management. The  food'. But at 99¢ or 99p, its &
In business, however, the engineers would make the hamburgers are as close to ¢
word has acquired a very dif- 40 product to the highest possi- absolute cheapness as any ; ;
ferent meaning. As defineq ble standard and price it bersen in the developed i A
by the American statistician accordingly. If the public 95 world conld desire, They are =
15 Edward Deming some 5g was so uncultured that they  atsp highly consistent. at a ; i
y Years ago, quality means turned it down, so much the - McDonald’s anywhere argund 3 .
consistency, alack of defects, 45 worse for the public. Andso  the world and the results will ¥ .
X Around 1970, it is said, a old-style quality gof a bad be roughly similar. But as 4 i
group of investment ana. name in business circlés, It 100 anyone who has eaten a really =
20 lysts visited 3 worldfamouns was all very well for artists good American hamburger 3
f . UK engineering company. to produce masterpieces, knows, a McDonald’s is alsoa  §
I They asked the questions of 50 The job of companies was to long way from quality in its & 4
! their trade: abont profit mar. Dlease the market, original sense. :
glns, stock control and bal- Purther damage to old. inancinl T :
25 ance sheets. The company’s style quality was done by the Fom the Financiot Times E ,
executives seemed honestly  rige of Japan, When Japanese % h
puzzled. They did not see the 5 cars, toys and television sets FINANCIAL TIMES & '

New-style quality

the US and UK, local many-
facturers considered them
~ Cheap trash, Inthe beginning,
60 they were. But ‘under the

Old-style excellence got a bad name, says Tény Jackson, teaching of Bdward Deming,
The aim should be to provide a product consistently the Japanese were learning
: g about the second definition of

and make it the bast you can.

The term ‘guality” is gne of

point of all this, they gajd.

Their products were the

first reached the market in

guality. Western customers
65 then began to realige that

Wwhile Japanese cars might he’

tin cans, they did not keep
breaking dowa, as did British
and American cars,

70 InHmeof course, Japanese
cars stopped being tin cans,
and became stylish and com.
fortable vehicles instead. That
Is, they achieved old-styla gual-

75 ity as well. As western mann-
facturers discovered to their
cost, that wasin some respecis
the eagy bit, New-style quality
was harder.

80 Quality has a third mean-

- ing: that of value for money,
To quality for that meaning,

World business newspaper,

5

mma””ﬂ%mmmmmmmr%m
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16 Qualftyj

New-style quality: summary
According to the article; quality used to mean that a product was well-made and
high-priced. Nowadays, quality has a different meaning for business people. It
means a product is reliable and does not have things wrong with it. In 1980, a
group of analysts visited Rolls Royce. They asked many questions abolit finance,
but few about quality. It is not surprising that Rolls Royce went bankrupt; they sold
their cars too cheaply irr their markets.

The old-style idea of quality became popular with business people because it -
emphasused the importance of good production methods. The Japanese learned a
lot from Edward Deming. Their products sell well in western markets because they
are low-priced. The US company, McDonald’s, sells products which are cheap and
excellent value for money. According to the writer of the article, McDonald’s
hamburgers are the best in the world.

.

G Discuss these questions. s
1 -Why were the Rol|s Royce executives" puzzled’ when the analysts asked
their questions?
2 According to the writer, what mistake. t:aused Rol R‘o
3 What advantage did Japariese cars have compa 0w
American cars?

0 Compléte the definition below.

i .\......’............._..................---...-.......-. stseseasrverarEEeEsEERESaRRED

e Match these phrases from paragraph two to the definitions.
1 profit margins- a) checking supplies of goods

2 balance sheets b) the difference between manufacturing cost and
selling price

3 stock control - ¢) statements of the amount of money a company has,
including money it owes or is owed

G Find words or phrases in the article which mean:
1 reliability (paragraph 1)
2 went bankrupt (paragraph 3)
_3 management focus on préd'uction (paragraph 3)
4 refused to buy the product (paragraph 3)
5 badly-made goods sold at low prices (paragraph 4)

(® Which sentence means the same as these quotations from the article?

1 And so old-style quality got a bad name in business circles. (paragraph 3)
a) Business people did not try to produce well-made products.
'b) Business people no longer accepted this idea of quality.
¢) Business people tried to find another hame for quality.

2 It was all very well for artists to produce masterpieces. (paragraph 3)
a) It was right that artists should try to produce masterpieces.
b) Artists don’t have to produce masterpieces.
¢) All artists produce masterpieces at some time.

@ Can you think of products that are made according to:
a) old-styte quality? b} new-style quality?
Make two lists. Then compare lists with a partner.

? y ] fi:" ’ ,\‘-_‘j_
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